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Ex1: Déterminer	 les	 matrices	 (relativement	 aux	 bases	 canoniques)	 des	 applications	
linéaires	suivantes	:	

1. �:ℝ! ⟶ℝ#					définie	par								�(%, ', () = (% − ', ' − (). 
2. ,:ℝ! ⟶ℝ										définie	par								,(%, ', () = % − 5' + 4(. 
3. ℎ:ℝ# ⟶ℝ!								définie	par							ℎ(%, ') = (% + ', % − ', ' − %). 

Ex2:  Soit	 2 = 3 4 2−1 01 −37	 	 et	 8 = 9
−2 5 31 6 −4;.	 Peut-on	 effectuer	 les	 opérations	:	

2 + 8	?		28	?		82	?		Si	oui,	calculer	le	résultat.	 
Ex3:  Soit		? = 9@ AB C; ∈ ℳ#(ℝ).	Montrer	que:				?# − (@ + C)? + (@C − AB)G# = 0.	
Ex4:  On note 2 = 98 00 −1; ∈ ℳ#(ℝ).	 Résoudre	 l’équation	 ?! = 2.	 d’inconnue	
? ∈ ℳ#(ℝ),	en	remarquant	que	si								?! = 2			alors			2? = ?2.	
Ex5:  Soit		? = 91 01 2;,				montrer	que				?K = 9 1 02K − 1 2K;			pour	tout		L ∈ ℕ∗. 
Ex6:   Soit	2 = 31 1 00 1 10 0 17 	.		On	pose	8 = 2 − G!	;	calculer	8

K	pour	L ∈ ℕ∗.	
En	déduire	l’expression	de	2K		pour		L ∈ ℕ∗.		
Ex7:  Soient	 2 = 34 −2 −21 0 −13 −2 −17 , R = 3

0 0 00 1 00 0 27	 et	 S = 3
1 0 11 1 01 −1 17.	 Vérifier	 que	

SUV = 3−1 1 11 0 −12 −1 −17		et		2 = SRS
UV,	en	déduire	une	expression	de		2K		pour		L ∈ ℕ∗.	

Ex8: (supplémentaire)  On note  2 = 3−2 −6 60 0 0−1 −3 37 		8 = 3
0 0 01 3 −21 3 −27                                                                

et pour tout % ∈ ℝ	: W(%) = 2 + %8. 

a) Calculer 2#, 8#, 28, 82. 

b) Montrer :     ∀% ∈ ℝ					W(%)W(') = W(%'). 
c) En déduire   ∀L ∈ ℕ∗,			∀% ∈ ℝ	,				YW(%)ZK = W(%K). 
d) Calculer   3−2 −6 −610 30 −209 27 −177

V]
.            Indication :			3−2 −6 −610 30 −209 27 −177 = 	W(10).	 


